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Note : Question No. 1 is compulsory. Attempt 

any five questions from the question 

numbers 2 to 8. 

1. Give two examples of each of the following : 

      5×2=10 

(a) Membrane transport protein 

(b) Membrane receptors 
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(c) Inhibitors of ETC 

(d) Uncouplers of ETC 

(e) Energy rich compounds 

2. (a) Explain lateral and transverse 

diffusion of lipids in a biomembrane 

using a labelled diagram. 6 

 (b) Describe ADP-ATP cycle. 6 

3. (a) Explain fluid mosaic model of 

membrane. 4 

 (b) Describe any one of the membrane 

microdomains. 4 

(c) Write the principle of freeze-fracture 

technique. 4 

4. (a) Discuss the processes that produce 

ATP in prokaryotes and eukaryotes. 4 
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 (b) Explain chemiosmotic coupling 

hypothesis. 8 

5. Differentiate between any two of the 

following :  6×2=12 

 (a) Voltage gated ion channel and Ligand 

gated ion channel 

 (b) Active and Passive transport 

 (c) Membrane fusion and Receptor- 

mediated endocytosis 

6. (a) Describe various photosynthetic 

pigments found in higher plants. 8 

 (b) What is chlorosome ? Explain. 4 

7. (a) Explain the Z-scheme of electron flow 

during light reaction of photosynthesis. 

    7 
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 (b) Name the supramolecular complexes of 

photosynthetic machinery. 5 

8. Write short notes on any two of the 

following :  6×2=12 

 (a) Factors affecting membrane fluidity 

 (b) Cytosis 

(c) Transport vesicles 
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ch-,l-&lh- (vkWulZ) tSo&jlk;u  

(ch-,l&lh-ch-lh-,p-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-lh-lh-Vh-&111 % dyk tSo foKku vkSj  

tSo vkSftZdh 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % iz'u la[;k 1 vfuok;Z gSA iz'u la- 2 ls 8 rd fdUgha 

ik¡p iz'uksa ds mÙkj nhft,A 

1- fuEufyf[kr ds nks mnkgj.k nhft, % 5×2=10 

 (d) dyk vfHkxeu izksVhu 
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 ([k) dyk xzkgh 

 (x) ETC ds laned 

 (?k) ETC ds fo;qXeud 

 (³) ÅtkZ le`¼ ;kSfxd 

2- (d) tSodyk esa fyfiM ds ik'oZ rFkk vuqizLFk folj.k 

dks mi;qDr fpfUgr fp= ds lkFk le>kb,A 6 

 ([k) ADP-ATP pØ dk o.kZu dhft,A 6 

3- (d) dyk ds nzo ekstSd ekWMy dh O;k[;k dhft,A 4 

 ([k) fdlh ,d dyk lw{e{ks=@Mksesu dk fooj.k  

nhft,A  4 

 (x) fge&foHkatu rduhd dk fl¼kar fyf[k,A 4 

4- (d) izkDdsUnzdksa rFkk lqdsUnzdksa esa ATP l`tu izfØ;kvksa 

dh ppkZ dhft,A 4 

 ([k) jlksijklj.kh ;qXed ifjdYiuk dk o.kZu  

dhft,A  8 
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5- fuEufyf[kr esa ls fdUgha nks ds chp vUrj Li"V dhft, % 

      6×2=12 

(d) oksYVst }kfjr vk;u pSuy vkSj layXuh }kfjr 

vk;u pSuy 

([k) lfØ; vkSj fuf"Ø; vfHkxeu 

(x) dyk lay;u vkSj xzkgh&e/;LFk var%dksf'kdrk 

6- (d) mPp ikniksa esa ik;s tkus okys izdk'k&la'ys"kd 

o.kZdksa dk C;kSjk nhft,A 8 

 ([k) Dyksjkslkse D;k gksrk gS \ le>kb,A 4 

7- (d) izdk'k&la'ys"k.k esa izdk'k vfHkfØ;k ds  

nkSjku bysDVªkWu izokg dh Z-Ldhe dk o.kZu 

dhft,A  7 

 ([k) izdk'k&la'ys"kd ra= ds fo'kky v.kqdf.kdk ladqyksa 

ds uke crkb,A 5 



 [ 8 ] BBCCT–111 

C–2428/BBCCT–111 

8- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

     6×2=12 

 (d) dyk rjyrk dks izHkkfor djus okys dkjd 

 ([k) dksf'kdrk 

 (x) vfHkxeu vk'k; 

× × × × × 

 

 

 

 

 

 

 

 

 


